PORSCHE

_ _ Service
Technical Information 6
134/21enu  AMB6
AMBG6 - Checking Three-Point Belt and Replacing it if Necessary (Stop Delivery/Recall
Campaign)
Model Line: Taycan (Y1A)
Model Year: As of 2021 up to 2022
Country/Mark- USA (C02)
et: Canada (C36)
Concerns: Child locking function on three-point belt
Information: There is a possibility that the child-seat lock on the three-point belts in the affected vehicles will

Action required:

Affected
Vehicles:

not always function properly due to a defective locking lever.

As a result, the legal requirements for the child-seat lock function of the three-point belts may not be met.

Check the three-point belts affected and replace them if necessary.

@ Information

Every vehicle affected by this campaign has been assigned multiple scopes.
e 1 scope for testing
e 1-8otherscopes for replacing the three-point belts, depending on the test result

Based on production data, it is clear at which position a potentially faulty three-point belt was installed in
each vehicle. To determine which three-point belt(s) must be checked, use the PCSS Vehicle Information
to determine the scope of the test required for the vehicle. Then check the three-point belt(s) affected.
For instructions see:

= Technical Information 'Checking three-point belt'

Depending on the result of the test, the relevant scope must then be selected to carry out the remedial
action and the related warranty processing.

Only vehicles assigned to the campaign (see also PCSS Vehicle Information).

Parts required

If necessary remove the parts from the corresponding invoicing scope after checking the three-point
belt(s).

For invoicing scopes, see

= Technical Information 'Warranty processing'

Sep 29, 2021
AfterSales Sde 10738




Service i )
6 Technical Information
AMB6 ENU134/21

Required tools

@] Information

The Taycan (Y1A) is equipped as standard with a lithium starter battery.

Lithium starter batteries must only be charged using a suitable battery charger that has a current
and voltage-controlled charge map.

For further information about the battery chargers to be used, see = Workshop Manual '270689
Charging battery/vehicle electrical system'.

@ Information

No tools are required for checking the three-point belts.

Tools: *  Battery charger with a current rating of at least 90 A, and also with a current and

voltage-controlled charge map for lithium starter batteries, e.g. VAS 5908 battery charger
90 A.

e 9900 -PIWIS Tester 3

e Torquewrench,2-10Nm(1.5-7.5ftlb.), e.g. VAG 1783 Torque wrench, 2-10 Nm (1.5-7.5
ftlb.)

e Torque wrench, 6 -50Nm (4.5 -37 ftlb.), e.g. VAG 1331A Torque wrench, 6-50 Nm (4.5-37
ftlb.)

e Plastic wedge (commercially available)

Checking three-point belt

Work Checking three-point belt

Procedure: Depending on the test scope assigned to the vehicle, check the appropriate three-point belt/three-point

belts.

@ Information

The test procedure is shown using the rear center seat as an example. The three-point belts for the rear
right, rear left and front (passenger's side) seats must be checked in the same way.

Sep 29, 2021
Page 2 of 38 AfterSales




Technical Information

Service
134/21envu AMB6 6

1 Insertthree-point belt with the seat-belt fastener into
the seat-belt buckle and lock it = Closing three-point
belt.

@] Information

To check the three-point belts for the rear right, rear left
and front (passenger's side) seats, continue with Step 3.

2 Pull belt strap about 200 mm - 250 mm/ 7.87 in —
9.84 in out of the belt installling and hold in place with
your hand = Holding belt strap -Left picture-.

3 While holding the belt strap in place with your hand
=>Holding belt strap -Right picture- (only for rear
center three-point belt), pull the belt strap out fully
= Pulling out belt strap in order to activate the child
locking function (ALR automatic locking retractor).

Pulling out belt strap

AfterSales

Sep 29, 2021
Page 3 of 38




6 AMB6

Service
ENU134/21

Technical Information

4 Allow the belt strap to retract slowly, checking
whether an audible click can be heard while it retracts
= Retracting belt strap.

Keep holding the belt strap with your hand (only for
rear center three-point belt).

5 Assoon as the belt strap has retracted, check
whether it can be pulled out again or is blocked
= Pulling out belt strap and checking belt locking
system.

When checking the three-point belt(s), if you discover
that the belt strap does not lock, the three-point belt(s)
affected must be replaced. To do this, continue with:

e  =>Technical Information '270689 Replacing front
(passenger's side) three-point belt' and/or

e  =Technical Information '270689 Replacing rear left
/ right three-point belt' and/or

e  =>Technical Information ‘270689 Replacing rear
centre three-point belt'

Pulling out belt strap and checking
belt locking system

If the belt strap blocks and an audible click can be heard when the three-point belt retracts:

e Repeatsteps 1to5 four times

@ Information

The check must be performed five times on all affected three-point belts.

@ Information

If the child-lock function does not comply with specifications once during the five checks, the three-point

belt in question must be replaced.

If five tests confirm that the child locking function of the three-point belt(s) works according to specifi-

cations, the three-point belt(s) do not have to be replaced.

Sep 29, 2021
Page 4 of 38

AfterSales




) ) Service
Technical Information 6
134/21envu AMB6

If all three-point belts to be checked work according to specifications, the campaign can be
completed as follows:

e Enter the campaign in the Warranty and Maintenance booklet
* End of remedial action

Replacing front three-point belt (passenger’s side)

Incorrect handling of seat-belt pretensioner unit
e Triggering of seat-belt pretensioner unit

= Observe safety regulations for handling seat-belt pretensioner units. = Workshop Manual '6X00IN
Handling and replacing airbag and seat-belt pretensioner units’

= Observe disposal regulations for seat-belt pretensioner units. = Workshop Manual '6X00IN Disposal of
airbag and seat-belt pretensioner units'

= After disconnecting the battery, wait 1 minute before disconnecting the seat-belt pretensioner unit.

= Setaside the remote control and disconnect the battery. Route or insulate the ground strap so that all
contact with a ground carrier is avoided. =>Workshop Manual ‘978519 Removing and installing ground
strap for battery’

= Ifremoved for an extended period, the seat-belt pretensioner unit must be stored in a safe place.

= Transport the seat-belt pretensioner unitin such a way that the belt strap can retract safely if itis

actuated.
@ Information
Dispose of replaced and non-ignited airbag and seat-belt pretensioner units in accordance with local legal
requirements and transport regulations.
Work Preparatory work
Procedure:

1 Remove B-pillar trim panel (lower part).
= Workshop Manual '706719 Removing and installing B-pillar trim panel (lower part)’

2 Remove the B-pillar trim panel (upper part).
= Workshop Manual '70671901 Removing and installing the B-pillar trim panel (upper part)'

3 Remove rear seat.
= Workshop Manual '724819 Removing and installing rear seat'

4 Remove (lower part of) C-pillar trim panel.
= Workshop Manual '706819 Removing and installing C-pillar trim panel (lower part)'

Sep 29, 2021
AfterSales ISdeSof 38




Service i )
6 Technical Information
AMB6 ENU134/21

5 Remove (rear) inner door sill trim.
= Workshop Manual '680519 Removing and installing (rear) inner door sill trim'

6 Remove dashboard trim panel.
= Workshop Manual '701619 Removing and installing dashboard trim panel’

7  Remove front side-section trim panel.
= Workshop Manual '702419 Removing and installing front side-section trim panel

8 Remove (front) inner door sill trim.
= Workshop Manual '68051901 Removing and installing (front) inner door sill trim'

Work Replacing three-point belt

Procedure: —  Replace front three-point belt (passenger’s side).

For instructions see:

= Workshop Manual '691119 Removing and installing front three-point belt'
and

= Workshop Manual '691155 Replacing front three-point belt'

Work Concluding work

Procedure: 1 Install (front) inner door sill trim.

= Workshop Manual '68051901 Removing and installing (front) inner door sill trim’

2 Install front side-section trim panel.
= Workshop Manual '702419 Removing and installing front side-section trim panel

3 Install (rear) inner door sill trim.
= Workshop Manual '680519 Removing and installing (rear) inner door sill trim'

4 Install dashboard trim panel.
= Workshop Manual '701619 Removing and installing dashboard trim panel’

@ Information

Unless another three-point belt has to be replaced, continue with Step 5.
If one or more rear three-point belts also have to be replaced, continue directly with:

e  =>Technical Information ‘701619 Replacing rear left / right three-point belt’
or
e  =Technical Information '701619 Replacing rear centre three-point belt'

5 Install (lower part of) C-pillar trim panel.
= Workshop Manual '706819 Removing and installing C-pillar trim panel (lower part)'

Sep 29, 2021
Page 6 of 38 AfterSales




) ) Service
Technical Information 6
AMB6

134/21enu

6 Install rear seat.
= Workshop Manual '724819 Removing and installing rear seat'

7  Install the B-pillar trim panel (upper part).
= Workshop Manual '70671901 Removing and installing the B-pillar trim panel (upper part)’

8 Install B-pillar trim panel (lower part).
= Workshop Manual '706719 Removing and installing B-pillar trim panel (lower part)’

9  Enter the campaign in the Warranty and Maintenance booklet.

Replacing rear left / right three-point belt

Incorrect handling of seat-belt pretensioner unit

=

Triggering of seat-belt pretensioner unit

Observe safety regulations for handling seat-belt pretensioner units. = Workshop Manual "6X00IN
Handling and replacing airbag and seat-belt pretensioner units’

Observe disposal regulations for seat-belt pretensioner units. =>Workshop Manual '‘6X00IN Disposal of
airbag and seat-belt pretensioner units'

After disconnecting the battery, wait 1 minute before disconnecting the seat-belt pretensioner unit.

Set aside the remote control and disconnect the battery. Route or insulate the ground strap so that all
contact with a ground carrier is avoided. =>Workshop Manual ‘978519 Removing and installing ground
strap for battery’

= Ifremoved for an extended period, the seat-belt pretensioner unit must be stored in a safe place.
= Transport the seat-belt pretensioner unitin such a way that the belt strap can retract safely if itis
actuated.

@ Information
Dispose of replaced and non-ignited airbag and seat-belt pretensioner units in accordance with local legal
requirements and transport regulations.

Work Preparatory work:

Procedure:

1 Remove rear seat.
= Workshop Manual '724819 Removing and installing rear seat'

2 Remove (lower part of) C-pillar trim panel.
= Workshop Manual '706819 Removing and installing C-pillar trim panel (lower part)'

Sep 29, 2021
AfterSales §§ge7of 38




Service i )
6 Technical Information
AMB6

ENU134/21

Work Replacing rear left / right three-point belt
Procedure:

—  Replace rear left / right three-point belt.
For instructions see:
= Workshop Manual '691219 Removing and installing rear three-point belt’

Work Concluding work

Procedure: @]
Information

Unless another three-point belt has to be replaced, continue with Step 1.
If one or more rear three-point belts or the front three-point belt (passenger's side) also has to be
replaced, continue directly with:

e  =>Technical Information '691219 Replacing front three-point belt (passenger's side)’
or

e  =>Technical Information ‘691219 Replacing rear centre three-point belt'

1 Install (lower part of) C-pillar trim panel.

= Workshop Manual '706819 Removing and installing C-pillar trim panel (lower part)'

2 Install rear seat.
= Workshop Manual '724819 Removing and installing rear seat'

3 Enter the campaign in the Warranty and Maintenance booklet.

Replacing rear center three-point belt

Incorrect handling of seat-belt pretensioner unit

=

Triggering of seat-belt pretensioner unit

Observe safety regulations for handling seat-belt pretensioner units. = Workshop Manual '6X00IN
Handling and replacing airbag and seat-belt pretensioner units'

Observe disposal regulations for seat-belt pretensioner units. = Workshop Manual '6X00IN Disposal of
airbag and seat-belt pretensioner units'

After disconnecting the battery, wait 1 minute before disconnecting the seat-belt pretensioner unit.

Set aside the remote control and disconnect the battery. Route or insulate the ground strap so that all
contact with a ground carrier is avoided. = Workshop Manual ‘978519 Removing and installing ground
strap for battery'

If removed for an extended period, the seat-belt pretensioner unit must be stored in a safe place.

Transport the seat-belt pretensioner unit in such a way that the belt strap can retract safely if itis
actuated.

Sep 29, 2021
Page 8 of 38 AfterSales




) ) Service
Technical Information 6
AMB6

134/21enu

Work
Procedure:

Work
Procedure:

Work
Procedure:

@] Information

Dispose of replaced and non-ignited airbag and seat-belt pretensioner units in accordance with local legal
requirements and transport regulations.

Preparatory work:

1 Disconnect ground strap for 12-volt vehicle electrical system battery.
For instructions see:
= Workshop Manual '978519 Removing and installing ground strap for battery"

2 Remove rear seat.
= Workshop Manual '724819 Removing and installing rear seat'

3 Remove side cushion at the left and right.
= Workshop Manual '724919 Removing and installing side cushion'

4 Remove rear backrest on 2/3-split folding rear seat.
= Workshop Manual '724719 Removing and installing rear backrest'

@] Information

The rear backrest mount = Workshop Manual '726719 Removing and installing rear backrest mount’
does not have to be removed.

5 Remove rear-backrest lock.
= Workshop Manual '726819 Removing and installing rear-backrest lock'

6 Loosen padding for rear backrest to the extent necessary to allow the three-point belt to be
removed. This does not require removal of the headrest.
For instructions see:
= Workshop Manual '745219 Removing and installing padding for rear backrest'

Replacing rear center three-point belt

—  Replace rear center three-point belt.
For instructions see:
= Workshop Manual '691219 Removing and installing rear three-point belt'

Concluding work
1 Install padding for rear backrest.
= Workshop Manual '745219 Removing and installing padding for rear backrest'

2 Install rear-backrest lock.
= Workshop Manual '726819 Removing and installing rear-backrest lock'

Sep 29, 2021
AfterSales szgegof 38




Service i )
6 Technical Information
AMB6 ENU134/21

3 Install rear backrest on 2/3-split folding rear seat.
= Workshop Manual '724719 Removing and installing rear backrest'

4 Install side cushion at the left and right.
= Workshop Manual 724919 Removing and installing side cushion’

@] Information

Unless another three-point belt has to be replaced, continue with Step 5.
If one or more rear three-point belts or the front three-point belt (passenger's side) also has to be
replaced, continue directly with:

e  =>Technical Information '724919 Replacing front three-point belt (passenger's side)'
or

e  =Technical Information '724919 Replacing rear left / right three-point belt’

5 |Install rear seat.

= Workshop Manual '724819 Removing and installing rear seat’

6 Connect ground strap for 12-volt vehicle electrical system battery.
For instructions see:
= Workshop Manual '978519 Removing and installing ground strap for battery"

7  Follow work instructions after disconnecting the 12-volt vehicle electrical system battery.
= Workshop Manual "2X00IN Work instructions after disconnecting the 12-volt battery"

8 Enter the campaign in the Warranty and Maintenance booklet.

Warranty processing

Scope 1: Not relevant for this vehicle type.
Scope 2: Checking three-point belt in front (passenger side), rear left, rear right and rear center
Checking three-point belts Labor time: 35 TU

Includes: Checking 4 three-point belts

= Damage Code AMB6 99 000 1

Sep 29, 2021
Page 10 of 38 AfterSales




Technical Information

Service
134/21envu AMB6 6

Scope 3:

Scope 4:

Scope 5:

Scope 6:

Scope 7:

Checking three-point belt, front (passenger side)

Checking three-point belt
Includes: Checking 1 three-point belt

= Damage Code AMB6 99 000 1

Labor time: 29 TU

Check rear left three-point belt

Checking three-point belt
Includes: Checking 1 three-point belt

= Damage Code AMB6 99 000 1

Labor time: 29 TU

Checking rear right three-point belt

Checking three-point belt
Includes: Checking 1 three-point belt

= Damage Code AMB6 99 000 1

Labor time: 29 TU

Checking three-point belt on rear left and rear center

Checking three-point belts
Includes: Checking 2 three-point belts

= Damage Code AMB6 99 000 1

Labor time: 31 TU

Checking three-point belt on rear left and rear right

Checking three-point belts
Includes: Checking 2 three-point belts

= Damage Code AMB6 99 000 1

Labor time: 31 TU

AfterSales

Sep 29, 2021
Page 11 of 38




Service i )
6 Technical Information
AMB6 ENU134/21

Scope 8: Checking three-point belt in front (passenger's side) and rear left

Checking three-point belts Labor time: 31 TU
Includes: Checking 2 three-point belts

= Damage Code AMB6 99 000 1

Scope 9: Checking three-point beltin front (passenger's side) and rear right

Checking three-point belts Labor time: 31 TU
Includes: Checking 2 three-point belts

= Damage Code AMB6 99 000 1

Scope 10: Checking three-point belt at rear left, rear right and rear center

Checking three-point belts Labor time: 33 TU
Includes: Checking 3 three-point belts

= Damage Code AMB6 99 000 1

Scope 11: Checking three-point beltin front (passenger side), rear left and rear right

Checking three-point belts Labor time: 33 TU
Includes: Checking 3 three-point belts

= Damage Code AMB6 99 000 1

Scope 12: Checking three-point belt in front (passenger side), rear left and rear center

Checking three-point belts Labor time: 33 TU
Includes: Checking 3 three-point belts

= Damage Code AMB6 99 000 1

Sep 29, 2021
Page 12 of 38 AfterSales




Technical Information

Service

134/21enu

AMB6 6

Scope 13:

Checking and replacing rear left three-point belt

Includes:

9J1857805J A23

or
9J1857805J OG6

or

9J1857805J OH5

or
9J1857805J 019

or

9J1857805J0L8

or
9J1857805J 0S1

or
9J1857805J OU6

or
9J1857805J OW4

N 98926102

Required part numbers:

Checking and replacing rear left three-point belt
Checking three-point belt
Replacing rear left three-point belt

Designation
—Use

= Three-point seat belt, black
—rear left

= Three-point seat belt in bordeaux red
—rear left

= Three-point seat belt, chalk beige
—rear left

= Three-point seat belt, atacama beige
—rear left

= Three-point seat belt, chalk
—rear left

= Three-point seat belt, truffle brown
—rear left

= Three-point seat belt, slate grey
—rear left

= Three-point seat belt, blackberry
rear left

Additional parts required for replacing the three-point belt

= Cylinder screw, 7/16"-20 x 32
—belt installling
—belt reel

= Damage Code AMB6 99 000, Repair Code 2

Labor time: 67 TU

Select the relevant version (color) of the three-point belt and specify it in the warranty claim.

Qty.

1 ea.

1ea.

1 ea.

1ea.

1 ea.

1ea.

1ea.

1 ea.

2 ea.

AfterSales

Sep 29, 2021
Page 13 of 38




Service i )
6 Technical Information
AMB6 ENU134/21

Scope 14: Checking and replacing rear center three-point belt

Checking and replacing rear center three-point belt Labortime: 118 TU
Includes: Checking three-point belt
Replacing rear center three-point belt

Required part numbers: Designation Qty.

9J1857807E A23 = Three-point seat belt, black lea.
—rear center

N 98926102 = Cylinder screw, 7/16"- 20 x 32 2 ea.
—belt installling
—belt reel

= Damage Code AMB6 99 000, Repair Code 2

Scope 15: Checking and replacing rear right three-point belt
Checking and replacing rear right three-point belt Labor time: 67 TU
Includes: Checking three-point belt
Replacing rear right three-point belt

Select the relevant version (color) of the three-point belt and specify it in the warranty claim.

Required part numbers: Designation Qty.

9J1857806J A23 = Three-point seat belt, black lea.
—rear right

or

9J1857806J OG6 = Three-point seat belt in bordeaux red lea.
—rear right

or

9J1857806J OH7 = Three-point seat belt, graphite blue lea.
—rear right

or

9J1857806J OL8 = Three-point seat belt, chalk lea.
—rear right

or

9J1857806J OU6 = Three-point seat belt, slate grey lea.
—rear right

Sep 29, 2021
Page 14 of 38 AfterSales




) ) Service
Technical Information 6
AMB6

134/21enu

Scope 16:

Additional parts required for replacing the three-point belt

N 98926102 = Cylinder screw, 7/16"-20 x 32 2 ea.
—belt installling
—belt reel

= Damage Code AMB6 99 000, Repair Code 2

Checking and replacing front three-point belt (passenger's side)

Checking and replacing front three-point belt (passenger's side) Labor time: 146 TU
Includes: Checking three-point belt
Replacing front three-point belt (passenger's side)
—teaching seat-belt pretensioner

Select the relevant version (color) of the three-point belt and specify it in the warranty claim.

Required part numbers: Designation Qty.

9J1857706J A23 = Three-point seat belt, black lea.
—front (passenger's side)
—M-no. 4QQ

or

9J1857706J OG6 = Three-point seat belt, bordeaux red lea.
—front (passenger's side)
—M-no. 4Q0Q

or

9J1857706J OH5 = Three-point seat belt, chalk beige lea.
—front (passenger's side)
—M-no. 4QQ

or

9J1857706J OL8 = Three-point seat belt, chalk lea.
—front (passenger's side)
—M-no. 4QQ

or

9J1857706J 003 = Three-point seat belt, meranti brown lea.
—front (passenger's side)
—M-no. 4Q0Q

or

Sep 29, 2021
AfterSales p;‘,’e 150f 38




Service i )
6 Technical Information
AMB6

ENU134/21

9J1857706J 0S1 = Three-point seat belt, truffle brown lea.
—front (passenger's side)
—M-no. 4QQ

or

9J1857706J OU6 = Three-point seat belt, slate gray lea.
—front (passenger's side)
—M-no. 4QQ

or

9J1857706J OW4 = Three-point seat belt, blackberry lea.
—front (passenger's side)
—M-no. 4Q0Q

or with M-no. 4QR

9J1857706G A23 = Three-point seat belt, black lea.
—front (passenger's side)
—M-no. 4Q0R

or

9J1857706G 0OG6 = Three-point seat belt, bordeaux red lea.
—front (passenger's side)
—M-no. 40R

Additional parts required for replacing the three-point belt

N 98926102 = Cylinder screw, 7/16"-20 x 32 2 ea.
—belt installling (rear)
—belt reel (front)

N 90910102 = Lens-type screw, M5 x 18 lea.
—T-hook

N 91074201 = Internal hexagon round-head bolt, M5x 16  1ea.
— belt deflector

PAF912806 = Internal serration screw lea.
—belt installling

= Damage Code AMB6 99 000, Repair Code 2

Sep 29, 2021
Page 16 of 38 AfterSales




Technical Information

Service

134/21enu

AMB6 6

Scope 17:

Checking and replacing rear left and rear center three-point belt

Includes:

9J1857805J A23

or
9J1857805J 0G6

or
9J1857805J OH5

or
9J1857805J 019

or
9J1857805J0L8

or
9J1857805J 0S1

or
9J1857805J OU6

or
9J1857805J OW4

and
9J1857807E A23

Required part numbers:

Checking rear left and rear center three-point belt
Checking three-point belts
Replacing rear left and rear center three-point belt

Designation

= Three-point seat belt, black
—rear left

= Three-point seat belt in bordeaux red
—rear left

= Three-point seat belt, chalk beige
—rear left

= Three-point seat belt, atacama beige
—rear left

= Three-point seat belt, chalk
—rear left

= Three-point seat belt, truffle brown
—rear left

= Three-point seat belt, slate grey
—rear left

= Three-point seat belt, blackberry
rear left

= Three-point seat belt, black
—rear center

Additional parts required for replacing the three-point belt

Labor time: 148 TU

Select the relevant version (color) of the three-point belt and specify it in the warranty claim.

Qty.

1ea.

1 ea.

1ea.

1 ea.

1ea.

1 ea.

1 ea.

1ea.

1 ea.

AfterSales

Sep 29, 2021
Page 17 of 38




6 AMB6

Service : )
Technical Information

ENU134/21
N 98926102 = Cylinder screw, 7/16"- 20 x 32 4 ea.
—belt reel
—belt installling

= Damage Code AMB6 99 000, Repair Code 2

Scope 18: Checking and replacing rear right and rear center three-point belt
Checking rear right and rear center three-point belt Labor time: 148 TU
Includes: Checking three-point belts
Replacing rear right and rear center three-point belt

Select the relevant version (color) of the three-point belt and specify it in the warranty claim.

Required part numbers: Designation Qty.

9J1857806J A23 = Three-point seat belt, black lea.
—rear right

or

9J1857806J OG6 = Three-point seat belt in bordeaux red lea.
—rear right

or

9J1857806J OH7 = Three-point seat belt, graphite blue lea.
—rear right

or

9J1857806J OL8 = Three-point seat belt, chalk lea.
—rear right

or

9J1857806J OU6 = Three-point seat belt, slate grey lea.
—rear right

and

9J1857807E A23 = Three-point seat belt, black lea.
—rear center

Additional parts required for replacing the three-point belt

N 98926102 = Cylinder screw, 7/16"- 20 x 32 4 ea.
—belt reel
—belt installling

= Damage Code AMB6 99 000, Repair Code 2

Sep 29, 2021

Page 18 of 38

AfterSales




Technical Information

Service

134/21enu

AMB6 6

Scope 19:

Checking and replacing rear left and rear right three-point belt

Includes:

9J1857806J A23

or
9J1857806J OG6

or
9J1857806J OH7

or
9J1857806J0OL8

or
9J1857806J OU6

and
9J1857805J A23

or
9J1857805J 0G6

or
9J1857805J OH5

or

Required part numbers:

Checking rear left and rear right three-point belt
Checking three-point belts
Replacing rear left and rear right three-point belt

Designation

= Three-point seat belt, black
—rear right

= Three-point seat belt in bordeaux red
—rear right

= Three-point seat belt, graphite blue
—rear right

= Three-point seat belt, chalk
—rear right

= Three-point seat belt, slate grey
—rear right

= Three-point seat belt, black
—rear left

= Three-point seat belt in bordeaux red
—rear left

= Three-point seat belt, chalk beige
—rear left

Labor time: 89 TU

Select the relevant version (color) of the three-point belt and specify it in the warranty claim.

Qty.

1 ea.

1ea.

1 ea.

1 ea.

1 ea.

1 ea.

1 ea.

1 ea.

AfterSales

Sep 29, 2021
Page 19 of 38




6 AMB6

Service : )
Technical Information

ENU134/21

9J1857805J 019 = Three-point seat belt, atacama beige lea.
—rear left

or

9J1857805J0L8 = Three-point seat belt, chalk lea.
—rear left

or

9J1857805J 0S1 = Three-point seat belt, truffle brown lea.
—rear left

or

9J1857805J OU6 = Three-point seat belt, slate grey lea.
—rear left

or

9J1857805J OW4 = — Three-point seat belt, blackberry lea.
—rear left

Additional parts required for replacing the three-point belt

N 98926102 = Cylinder screw, 7/16"- 20 x 32 4 ea.
— belt reel
—beltinstallling

= Damage Code AMB6 99 000, Repair Code 2

Scope 20: Checking and replacing three-point belt in front (passenger's side) and rear left
Checking and replacing three-point belt in front (passenger's side) and Labor time: 169 TU
rear left
Includes: Checking three-point belt

Replacing three-point belt in front (passenger’s side) and
rear left
Teaching seat-belt pretensioner
Select the relevant version (color) of the three-point belt and specify it in the warranty claim.
Required part numbers: Designation Qty.
9J1857706J A23 = Three-point seat belt, black lea.
—front (passenger's side)
—M-no. 4Q0Q
or
Sep 29, 2021
AfterSales

Page 20 of 38




Technical Information

Service

134/21enu

AMB6 6

9J1857706J OG6

or
9J1857706J OH5

or
9J1857706JOL8

or
9J1857706J 003

or
9J1857706J 0S1

or
9J1857706J OU6

or
9J1857706J OW4

or with M-no. 4QR
9J1857706G A23

or
9J1857706G OG6

and
9J1857805J A23

= Three-point seat belt, bordeaux red
—front (passenger's side)
—M-no. 4QQ

= Three-point seat belt, chalk beige
—front (passenger's side)
—M-no. 4Q0Q

= Three-point seat belt, chalk
—front (passenger's side)
—M-no. 4QQ

= Three-point seat belt, meranti brown
—front (passenger's side)
—M-no. 4QQ

= Three-point seat belt, truffle brown
—front (passenger's side)
—M-no. 4QQ

= Three-point seat belt, slate gray
—front (passenger's side)
—M-no. 4Q0Q

= Three-point seat belt, blackberry
—front (passenger's side)
—M-no. 4QQ

= Three-point seat belt, black
—front (passenger's side)
—M-no. 40R

= Three-point seat belt, bordeaux red
—front (passenger's side)
—M-no. 40R

= Three-point seat belt, black
—rear left

1 ea.

1ea.

1ea.

1 ea.

1ea.

1 ea.

1ea.

1ea.

1 ea.

1 ea.

AfterSales

Sep 29, 2021
Page 21 of 38




6 AMB6

Service

Technical Information

ENU134/21

or

9J1857805J OG6 = Three-point seat belt in bordeaux red lea.
—rear left

or

9J1857805J OH5 = Three-point seat belt, chalk beige lea.
—rear left

or

9J1857805J 019 = Three-point seat belt, atacama beige lea.
—rear left

or

9J1857805J0L8 = Three-point seat belt, chalk lea.
—rear left

or

9J1857805J 0S1 = Three-point seat belt, truffle brown lea.
—rear left

or

9J1857805J OU6 = Three-point seat belt, slate grey lea.
—rear left

or

9J1857805J OW4 = — Three-point seat belt, blackberry lea.
—rear left

Additional parts required for replacing the three-point belt

N 98926102 = Cylinder screw, 7/16"-20 x 32 4 ea.
— belt installling (rear)
—belt reel (front / rear)

N 90910102 = Lens-type screw, M5 x 18 lea.
—T-hook

N 91074201 = Internal hexagon round-head bolt, M5x 16  1ea.
—belt deflector

PAF912806 = Internal serration screw lea.

—belt installling

= Damage Code AMB6 99 000, Repair Code 2

Sep 29, 2021
Page 22 of 38

AfterSales




Technical Information

Service

134/21enu

AMB6 6

Scope 21.:

Checking and replacing three-point belt in front (passenger's side) and rear right

rear right
Includes:

9J1857706J A23

or
9J1857706J OG6

or
9J1857706J OH5

or
9J1857706J0L8

or
9J1857706J 003

or
9J1857706J OS1

or
9J1857706J OU6

or

Required part numbers:

Checking and replacing three-point belt in front (passenger's side) and

Checking three-point belt

Replacing three-point belt in front (passenger’s side) and
rear right

Teaching seat-belt pretensioner

Designation

= Three-point seat belt, black
—front (passenger's side)
—M-no. 4QQ

= Three-point seat belt, bordeaux red
—front (passenger's side)
—M-no. 4QQ

= Three-point seat belt, chalk beige
—front (passenger's side)
—M-no. 4QQ

= Three-point seat belt, chalk
—front (passenger's side)
—M-no. 4QQ

= Three-point seat belt, meranti brown
—front (passenger's side)
—M-no. 4Q0Q

= Three-point seat belt, truffle brown
—front (passenger's side)
—M-no. 4QQ

= Three-point seat belt, slate gray
—front (passenger's side)
—M-no. 4QQ

Labor time: 158 TU

Select the relevant version (color) of the three-point belt and specify it in the warranty claim.

Qty.

1 ea.

1ea.

1 ea.

1 ea.

1ea.

1 ea.

1 ea.

AfterSales

Sep 29, 2021
Page 23 of 38




6 AMB6

Service

Technical Information

ENU134/21

9J1857706J OW4 = Three-point seat belt, blackberry lea.
— front (passenger's side)
—M-no. 4QQ

or for M-no. 4QR

9J1857706G A23 = Three-point seat belt, black lea.
—front (passenger's side)
—M-no. 4QR

or

9J1857706G 0G6 = Three-point seat belt, bordeaux red lea.
—front (passenger's side)
—M-no. 4Q0R

and

9J1857806J A23 = Three-point seat belt, black lea.
—rear right

or

9J1857806J OG6 = Three-point seat belt in bordeaux red lea.
—rear right

or

9J1857806J OH7 = Three-point seat belt, graphite blue lea.
—rear right

or

9J1857806J OL8 = Three-point seat belt, chalk lea.
—rear right

or

9J1857806J OU6 = Three-point seat belt, slate grey lea.
—rear right

Additional parts required for replacing the three-point belt

N 98926102 = Cylinder screw, 7/16"- 20 x 32 3ea.
— belt installling (rear)
—belt reel (front / rear)

N 90910102 = Lens-type screw, M5 x 18 lea.
—T-hook

N 91074201 = Internal hexagon round-head bolt, M5x 16  1ea.
— belt deflector

PAF912806 = Internal serration screw lea.

—belt installling

= Damage Code AMB6 99 000, Repair Code 2

Sep 29, 2021
Page 24 of 38

AfterSales




Technical Information

Service

134/21enu

AMB6 6

Scope 22:

Checking and replacing three-point belt in front (passenger's side) and rear center

rear center

rear center

Required part numbers:
9J1857706J A23

or
9J1857706J OG6

or
9J1857706J OH5

or
9J1857706JOL8

or
9J1857706J 003

or
9J1857706J 0S1

or

Checking and replacing three-point belt in front (passenger's side) and

Includes: Checking three-point belt
Replacing three-point belt in front (passenger's side) and

Teaching seat-belt pretensioner

Designation

= Three-point seat belt, black
—front (passenger's side)
—M-no. 4QQ

= Three-point seat belt, bordeaux red
—front (passenger's side)
—M-no. 4QQ

= Three-point seat belt, chalk beige
—front (passenger's side)
—M-no. 4QQ

= Three-point seat belt, chalk
—front (passenger's side)
—M-no. 4QQ

= Three-point seat belt, meranti brown
—front (passenger's side)
—M-no. 4QQ

= Three-point seat belt, truffle brown
—front (passenger's side)
—M-no. 4Q0Q

Labor time: 222 TU

Select the relevant version (color) of the three-point belt and specify it in the warranty claim.

Qty.

1ea.

1 ea.

1 ea.

1ea.

1 ea.

1 ea.

AfterSales

Sep 29, 2021
Page 25 of 38




6 Service
AMB6 ENu134/21

Technical Information

9J1857706J OU6

or
9J1857706J OW4

or for M-no. 4QR
9J1857706G A23

or
9J1857706G OG6

and
9J1857807E A23

N 98926102

N 90910102

N 91074201

PAF912806

= Three-point seat belt, slate gray lea.
—front (passenger's side)
—M-no. 4QQ

= Three-point seat belt, blackberry lea.
—front (passenger's side)
—M-no. 4Q0Q

= Three-point seat belt, black lea.
—front (passenger's side)
—M-no. 4Q0R

= Three-point seat belt, bordeaux red lea.
—front (passenger's side)
—M-no. 40R

= Three-point seat belt, black lea.
—rear center

Additional parts required for replacing the three-point belt

= Cylinder screw, 7/16"-20 x 32 4 ea.
—belt installling (rear)
—belt reel (front / rear)

= Lens-type screw, M5 x 18 1ea.
—T-hook

= Internal hexagon round-head bolt, M5x 16  1ea.
— belt deflector

=> Internal serration screw 1ea.
—belt installling

= Damage Code AMB6 99 000, Repair Code 2

Sep 29, 2021
Page 26 of 38

AfterSales




Technical Information

Service

134/21enu

AMB6 6

Scope 23:

Checking and replacing rear left, rear right and rear center three-point belt

Includes:

9J1857806J A23

or
9J1857806J OG6

or
9J1857806J OH7

or
9J1857806J OL8

or
9J1857806J OU6

and
9J1857805J A23

or
9J1857805J OG6

or
9J1857805J OHS

or
9J1857805J 019

or
9J1857805J0L8

Required part numbers:

Checking rear left, rear right and rear center three-point belt
Checking three-point belts
Replacing rear left, rear right and rear center three-point belt

Designation

= Three-point seat belt, black
—rear right

= Three-point seat belt in bordeaux red
—rear right

= Three-point seat belt, graphite blue
—rear right

= Three-point seat belt, chalk
—rear right

= Three-point seat belt, slate grey
—rear right

= Three-point seat belt, black
—rear left

= Three-point seat belt in bordeaux red
—rear left

= Three-point seat belt, chalk beige
—rear left

= Three-point seat belt, atacama beige
—rear left

= Three-point seat belt, chalk
—rear left

Labor time: 171 TU

Select the relevant version (color) of the three-point belt and specify it in the warranty claim.

Qty.

1 ea.

1 ea.

1 ea.

1 ea.

1 ea.

1 ea.

1 ea.

1 ea.

1 ea.

1 ea.

AfterSales

Sep 29, 2021
Page 27 of 38




6 AMB6

Service

Technical Information

ENU134/21

or

9J1857805J 0S1 = Three-point seat belt, truffle brown lea.
—rear left

or

9J1857805J OU6 = Three-point seat belt, slate grey lea.
—rear left

or

9J1857805J OW4 = — Three-point seat belt, blackberry lea.
—rear left

and

9J1857807E A23 = Three-point seat belt, black lea.
—rear center

Additional parts required for replacing the three-point belt

N 98926102 = Cylinder screw, 7/16"-20 x 32 6 ea.

—belt installling
—belt reel

= Damage Code AMB6 99 000, Repair Code 2

Scope 24: Checking and replacing three-point belt in front (passenger side), rear right and rear center
Checking and replacing three-point belt in front (passenger's side), rear Labor time: 233 TU
right and rear center
Includes: Checking three-point belts

Replacing three-point belt in front (passenger's side), rear
right and rear center
Teaching seat belt pretensioner
Select the relevant version (color) of the three-point belt and specify it in the warranty claim.
Required part numbers: Designation Qty.
9J1857706J A23 = Three-point seat belt, black lea.
—front (passenger's side)
—M-no. 4QQ
or
9J1857706J OG6 = Three-point seat belt, bordeaux red lea.
—front (passenger's side)
—M-no. 4QQ
Sep 29, 2021

Page 28 of 38

AfterSales




Technical Information

Service

134/21enu

AMB6 6

or
9J1857706J OH5

or

9J1857706J0L8

or
9J1857706J 003

or
9J1857706J OS1

or
9J1857706J OU6

or
9J1857706J OW4

or for M-no. 4QR
9J1857706G A23

or
9J1857706G OG6

and
9J1857806J A23

or

= Three-point seat belt, chalk beige
—front (passenger's side)
—M-no. 4QQ

= Three-point seat belt, chalk
—front (passenger's side)
—M-no. 4Q0Q

= Three-point seat belt, meranti brown
—front (passenger's side)
—M-no. 4QQ

= Three-point seat belt, truffle brown
—front (passenger's side)
—M-no. 4QQ

= Three-point seat belt, slate gray
—front (passenger's side)
—M-no. 4QQ

= Three-point seat belt, blackberry
—front (passenger's side)
—M-no. 4QQ

= Three-point seat belt, black
—front (passenger's side)
—M-no. 4QR

= Three-point seat belt, bordeaux red
—front (passenger's side)
—M-no. 40R

= Three-point seat belt, black
—rear right

1 ea.

1 ea.

1ea.

1 ea.

1ea.

1 ea.

1 ea.

1ea.

1ea.

AfterSales

Sep 29, 2021
Page 29 of 38




Service i )
6 Technical Information
AMB6

ENU134/21

9J1857806J OG6 = Three-point seat belt in bordeaux red lea.
—rear right

or

9J1857806J OH7 = Three-point seat belt, graphite blue lea.
—rear right

or

9J1857806J OL8 = Three-point seat belt, chalk lea.
—rear right

or

9J1857806J OU6 = Three-point seat belt, slate grey lea.
—rear right

and

9J1857807E A23 = Three-point seat belt, black lea.
—rear center

Additional parts required for replacing the three-point belt

N 98926102 = Cylinder screw, 7/16"- 20 x 32 5ea.
—belt installling (rear)
—belt reel (front / rear)

N 90910102 = Lens-type screw, M5 x 18 1ea.
—T-hook

N 91074201 = Internal hexagon round-head bolt, M5x 16  1ea.
— belt deflector

PAF912806 = Internal serration screw lea.
—belt installling

= Damage Code AMB6 99 000, Repair Code 2

Scope 25: Checking and replacing three-point belt in front (passenger side), rear left and rear center
Checking and replacing three-point belt in front (passenger's side), rear Labor time: 244 TU
left and rear center
Includes: Checking three-point belts

Replacing three-point belt in front (passenger's side), rear
left and rear center
Teaching seat belt pretensioner

Select the relevant version (color) of the three-point belt and specify it in the warranty claim.

Sep 29, 2021
Page 30 of 38 AfterSales




Technical Information

Service

AMB6 6

134/21enu

Required part numbers: Designation Qty.

9J1857706J A23 = Three-point seat belt, black lea.
—front (passenger's side)
—M-no. 4QQ

or

9J1857706J OG6 = Three-point seat belt, bordeaux red lea.
—front (passenger's side)
—M-no. 4QQ

or

9J1857706J OH5 = Three-point seat belt, chalk beige lea.
— front (passenger's side)
—M-no. 4QQ

or

9J1857706J0L8 = Three-point seat belt, chalk lea.
—front (passenger's side)
—M-no. 4QQ

or

9J1857706J 003 = Three-point seat belt, meranti brown lea.
—front (passenger's side)
—M-no. 4QQ

or

9J1857706J 0S1 = Three-point seat belt, truffle brown lea.
—front (passenger's side)
—M-no. 4QQ

or

9J1857706J OU6 = Three-point seat belt, slate gray lea.
— front (passenger's side)
—M-no. 4QQ

or

9J1857706J OW4 = Three-point seat belt, blackberry lea.
—front (passenger's side)
—M-no. 4Q0Q

or with M-no. 4QR

9J1857706G A23 = Three-point seat belt, black lea.
—front (passenger's side)
—M-no. 40R

or

Sep 29, 2021

AfterSales

Page 31 of 38




6 AMB6

Service

Technical Information

ENU134/21

9J1857706G 0G6 = Three-point seat belt, bordeaux red lea.
— front (passenger's side)
—M-no. 4QR

and

9J1857805J A23 = Three-point seat belt, black lea.
—rear left

or

9J1857805J OG6 = Three-point seat belt in bordeaux red lea.
—rear left

or

9J1857805J OH5 = Three-point seat belt, chalk beige lea.
—rear left

or

9J1857805J 019 = Three-point seat belt, atacama beige lea.
—rear left

or

9J1857805J0L8 = Three-point seat belt, chalk lea.
—rear left

or

9J1857805J 0S1 = Three-point seat belt, truffle brown lea.
—rear left

or

9J1857805J OU6 = Three-point seat belt, slate grey lea.
—rear left

or

9J1857805J OW4 = — Three-point seat belt, blackberry lea.
—rear left

and

9J1857807E A23 = Three-point seat belt, black lea.
—rear center

Additional parts required for replacing the three-point belt

N 98926102 = Cylinder screw, 7/16"-20 x 32 6 ea.
—belt installling (rear)
—belt reel (front / rear)

N 90910102 = Lens-type screw, M5 x 18 1ea.
—T-hook

Sep 29, 2021

AfterSales

Page 32 0f 38




Technical Information

Service

134/21enu

AMB6 6

N 91074201

PAF912806

= Internal hexagon round-head bolt, M5 x 16

— belt deflector

=> Internal serration screw
—belt installling

= Damage Code AMB6 99 000, Repair Code 2

1 ea.

1 ea.

Scope 26:

Checking and replacing three-point belt in front (passenger side), rear left and rear right

left and rear right
Includes:

9J1857706J A23

or
9J1857706J OG6

or
9J1857706J OHS

or
9J1857706J0L8

or
9J1857706J 003

or

Required part numbers:

Checking and replacing three-point belt in front (passenger's side), rear

Checking three-point belts

Replacing three-point belt in front (passenger's side), rear
left and rear right

Teaching seat belt pretensioner

Designation

= Three-point seat belt, black
—front (passenger's side)
—M-no. 4QQ

= Three-point seat belt, bordeaux red
—front (passenger's side)
—M-no. 4Q0Q

= Three-point seat belt, chalk beige
—front (passenger's side)
—M-no. 4QQ

= Three-point seat belt, chalk
—front (passenger's side)
—M-no. 4QQ

= Three-point seat belt, meranti brown
—front (passenger's side)
—M-no. 4Q0Q

Labor time: 181 TU

Select the relevant version (color) of the three-point belt and specify it in the warranty claim.

Qty.

1 ea.

1ea.

1ea.

1 ea.

1ea.

AfterSales

Sep 29, 2021
Page 33 0of 38




6 AMB6

Service

Technical Information

ENU134/21

9J1857706J 0S1 = Three-point seat belt, truffle brown lea.
—front (passenger's side)
—M-no. 4QQ

or

9J1857706J OU6 = Three-point seat belt, slate gray lea.
—front (passenger's side)
—M-no. 4QQ

or

9J1857706J OW4 = Three-point seat belt, blackberry lea.
—front (passenger's side)
—M-no. 4Q0Q

or with M-no. 4QR

9J1857706G A23 = Three-point seat belt, black lea.
—front (passenger's side)
—M-no. 4Q0R

or

9J1857706G 0OG6 = Three-point seat belt, bordeaux red lea.
—front (passenger's side)
—M-no. 40R

and

9J1857805JA23 = Three-point seat belt, black lea.
—rear left

or

9J1857805J OG6 = Three-point seat belt in bordeaux red lea.
—rear left

or

9J1857805J OH5 = Three-point seat belt, chalk beige lea.
—rear left

or

9J1857805J 019 = Three-point seat belt, atacama beige lea.
—rear left

or

9J1857805J0L8 = Three-point seat belt, chalk lea.
—rear left

or

9J1857805J 0S1 = Three-point seat belt, truffle brown lea.

—rear left

Sep 29, 2021
Page 34 of 38

AfterSales




Technical Information

Service

AMB6 6

—beltinstallling

= Damage Code AMB6 99 000, Repair Code 2

134/21enu

or

9J1857805J OU6 = Three-point seat belt, slate grey lea.
—rear left

or

9J1857805J OW4 = — Three-point seat belt, blackberry lea.
—rear left

and

9J1857806J A23 = Three-point seat belt, black lea.
—rear right

or

9J1857806J OG6 = Three-point seat belt in bordeaux red lea.
—rear right

or

9J1857806J OH7 = Three-point seat belt, graphite blue lea.
—rear right

or

9J1857806J0L8 = Three-point seat belt, chalk lea.
—rear right

or

9J1857806J OU6 = Three-point seat belt, slate grey lea.
—rear right

Additional parts required for replacing the three-point belt

N 98926102 = Cylinder screw, 7/16"-20 x 32 5ea.
—beltinstallling (rear)
—belt reel (front / rear)

N 90910102 = Lens-type screw, M5 x 18 1ea.
—T-hook

N 91074201 = Internal hexagon round-head bolt, M5x 16  1ea.
— belt deflector

PAF912806 = Internal serration screw lea.

AfterSales

Sep 29, 2021
Page 35 of 38




6 AMB6

Service
ENU134/21

Technical Information

Scope 27: Checking and replacing three-point belt in front (passenger side), rear left, rear right and rear
center
Checking and replacing three-point belt in front (passenger's side), rear Labor time: 256 TU
left, rear right and rear center
Includes: Checking three-point belts
Replacing three-point belt in front (passenger's side), rear
left, rear right and rear center
Teaching seat belt pretensioner
Select the relevant version (color) of the three-point belt and specify it in the warranty claim.
Required part numbers: Designation Qty.
9J1857706J A23 = Three-point seat belt, black lea.
—front (passenger's side)
—M-no. 4QQ
or
9J1857706J OG6 = Three-point seat belt, bordeaux red lea.
—front (passenger's side)
—M-no. 4QQ
or
9J1857706J OH5 = Three-point seat belt, chalk beige lea.
—front (passenger's side)
—M-no. 4QQ
or
9J1857706J OL8 = Three-point seat belt, chalk lea.
—front (passenger's side)
—M-no. 4QQ
or
9J1857706J 003 = Three-point seat belt, meranti brown lea.
—front (passenger's side)
—M-no. 4QQ
or
9J1857706J 0S1 = Three-point seat belt, truffle brown lea.
—front (passenger's side)
—M-no. 4Q0Q
or
9J1857706J OU6 = Three-point seat belt, slate gray lea.
—front (passenger's side)
—M-no. 4QQ
or
Sep 29, 2021

Page 36 of 38

AfterSales




Technical Information

Service

AMB6 6

134/21enu

9J1857706J OW4 = Three-point seat belt, blackberry lea.
—front (passenger's side)
—M-no. 4QQ

or for M-no. 4QR

9J1857706G A23 = Three-point seat belt, black lea.
—front (passenger's side)
—M-no. 4QR

or

9J1857706G 0G6 = Three-point seat belt, bordeaux red lea.
—front (passenger's side)
—M-no. 4Q0R

and

9J1857805J A23 = Three-point seat belt, black lea.
—rear left

or

9J1857805J 0OG6 = Three-point seat belt in bordeaux red lea.
—rear left

or

9J1857805J OH5 = Three-point seat belt, chalk beige lea.
—rear left

or

9J1857805J 019 = Three-point seat belt, atacama beige lea.
—rear left

or

9J1857805J0L8 = Three-point seat belt, chalk lea.
—rear left

or

9J1857805J 0S1 = Three-point seat belt, truffle brown lea.
—rear left

or

9J1857805J OU6 = Three-point seat belt, slate grey lea.
—rear left

or

9J1857805J OW4 = — Three-point seat belt, blackberry lea.
—rear left

and

AfterSales

Sep 29, 2021
Page 37 of 38




Service i )
6 Technical Information
AMB6 ENU134/21

9J1857806J A23 = Three-point seat belt, black lea.
—rear right

or

9J1857806J OG6 = Three-point seat belt in bordeaux red lea.
—rear right

or

9J1857806J OH7 = Three-point seat belt, graphite blue lea.
—rear right

or

9J1857806J0L8 = Three-point seat belt, chalk lea.
—rear right

or

9J1857806J OU6 = Three-point seat belt, slate grey lea.
—rear right

and

9J1857807E A23 = Three-point seat belt, black lea.
—rear center

Additional parts required for replacing the three-point belt

N 98926102 = Cylinder screw, 7/16"-20x 32 7 ea.
— belt installling (rear)
—belt reel (front / rear)

N 90910102 = Lens-type screw, M5 x 18 lea.
—T-hook

N 91074201 = Internal hexagon round-head bolt, M5x 16  lea.
—belt deflector

PAF912806 = Internal serration screw lea.
—beltinstallling

= Damage Code AMB6 99 000, Repair Code 2

Important Notice: Technical Bulletins issued by Porsche Cars North America, Inc. are intended only for use by professional automotive technicians who have attended Porsche service training
courses. They are written to inform those technicians of conditions that may occur on some Porsche vehicles, or to provide information that could assist in the proper servicing of a vehicle. Porsche special
tools may be necessary in order to perform certain operations identified in these bulletins. Use of tools and procedures other than those Porsche recommends in these bulletins may be detrimental to the
safe operation of your vehicle, and may endanger the people working on it. Properly trained Porsche technicians have the equipment, tools, safety instructions, and know-how to do the job properly and
safely. Part numbers listed in these bulletins are for reference only. The work procedures updated electronically in the Porsche PIWIS diagnostic and testing device take precedence and, in the event of a
discrepancy, the work procedures in the PIWIS Tester are the ones that must be followed. © 2021 Porsche Cars North America, Inc.

Sep 29, 2021
Page 38 of 38 AfterSales




	toc
	Model Line:
	Country/Market:
	Concerns:
	Information:
	Action required:
	Affected Vehicles:
	Parts required
	Required tools
	Tools:
	Checking three-point belt
	Work Procedure:
	Replacing front three-point belt (passenger's side)
	Work Procedure:
	Work Procedure:
	Work Procedure:
	Replacing rear left / right three-point belt
	Work Procedure:
	Work Procedure:
	Work Procedure:
	Replacing rear center three-point belt
	Work Procedure:
	Work Procedure:
	Work Procedure:
	Warranty processing
	Scope 1:
	Scope 2:
	Scope 3:
	Scope 4:
	Scope 5:
	Scope 6:
	Scope 7:
	Scope 8:
	Scope 9:
	Scope 10:
	Scope 11:
	Scope 12:
	Scope 13:
	Scope 14:
	Scope 15:
	Scope 16:
	Scope 17:
	Scope 18:
	Scope 19:
	Scope 20:
	Scope 21:
	Scope 22:
	Scope 23:
	Scope 24:
	Scope 25:
	Scope 26:
	Scope 27:


